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programs at Central High School is 520, The total number of

students in the school is 1850. Find the athlete-to- dent ratio

to the nearest tenth. |
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Example

Sq_lve each proportion
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Example

Determine if the polygons below are similar: b
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Exampl
An architect prepared a[12 1nch h model of a skyscraper to look

like a real/1100-foot] [building. What is the scale factor of the

model compared to the real building? {{ O 2 \RZ0O
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Example
Rectangle WXYZ is similar to rectangle PQRS wit%a scale —
factor of 1.5. If the length and width of PQRS are #8 and 2

meters respectively, what are the length and width of rectangle
WXYZ?

Example
The scale on the map of a city is % inch equals 2miles. On the
map, the width of the city at its widest point i@}’nches. The
city hosts a bicycle race across town at its widest point.
Tashawn bikes at 10 miles per hour. How long will it take her
to complete the race?
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> /4 /4 S\Yﬂfl{m 4’% — If two angles of one triangle are
congruent to two angles of another, then the triangles are
similar.

o QA Ay
» SSQ S\\W\\\(’Uﬁ% — If the measures of

corresponding sides of two triangles are
PROPORTIONAL, then the triangles are similar.

> S\S‘(% 3‘\“‘\\0"‘\% — If the measures of two sides

are proportional to the corresponding sides of another
and the included angles are congruent, then the triangles

are similar. A H ié/\‘o

Example /q B 5/@

In the figure AB is parallel to DC , BE =27, DE =45, AE =
21, and CE =35. Determine which trlangles in the figure are
similar.

ARBE ~ ACDE
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624 Parallel and Proportional Parts

» A line is parallel to one side of a triangle if and only if it
intersects the other two sides in two distinct points and it
separates these sides into segments of proportional
lengths.
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Example
In triangle RST, RT is parallel to VU, SV =3, VR =8, and UT
=12. Find SU. < Vv 2
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Example

Find x and y. Ih‘ ’L,
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6.6 Fractals and Self-Similarity

» Fractals - 8@@ %{\e WCM) bt/ C\V{;f;ﬁ%)
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Example

Find the values ofj)(a-f | where x initially equals 1. Then 2

use that value as the next x in the expression. Repeat the |

process three more times and describe your observations. | 5(()Q
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Example

Joanna has $1500 in a savings account that earns 4.1% _
interest. If the interest is compounded annually find the | TlSS

balance of her account after 4 years.
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